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General Instructions to candidates: 

Maximum: 80 Scores 

Time: 2½ hrs 
Cool off time: 15 Minutes 

o There is a 'Cool off time' of 15 minute in addition to the writing time of 2 ½ hours. 

o Use the 'cool off time' to get familiar with questions and to plan your answers. 

o Read the questions carefully before answering 

o Calculations, figures and graphs should be shown in the answer sheet itself 

o Malayalam version of the questions is also provided. 

o Give equations wherever necessary 

o Electronic devices except nonprogrammable calculators are not allowed in the Examination Hall. 

6) n...l :J CID~ ITT l@C: (] Cl() 6lIB CJ3 

• mlctlgl<ilis cru0CQJ(ID())1CD o.J60@0 15 0lml~ 'c0,4CJ3 @on.0 @@so' 22611sOCQJ10lc0060. 

• 22 (ID()) 06ID3u3 n© !l'J <m pn <m 1 m 0J cru a: !l.JC)B .,\ 6ID3u3 l(l()(IDC) nJ l@qjo QJC) CQJ 1 c06)6TT)o. 

• c0,6TT)d3@ c0, l 3 ei 6 c0,c,3, !l..l 1 L<m6ID3u3, l (I) o n.0 6 c0,c,3, n© cm 1 ru 22 (ID()) 0 a: nJ \½:JO 1 mi\(ID()) @cm 22 611sO CQJ 10 l c006mo. 

• <li!l..lOB_,\6ID3u3 0e.JCQJO~(ID())le.J6o mm8c0,lCQJl366ITT. 
• ~ ru (I().,\ 0Jglli cru_o eJ ffi cru 0 ruoc0, _,\ 6ID3u3 @c0,0 s 6 c006mo 

• <lilo.JOL(l)00Jc0,CJ3 @!l..l~OITTC>c0,C)(ID()) c0,c,mi\c006a:e.1go6c0,CJ3 63!l'l@c0,CQJJglli 6306 2!2e.lcfu<lilS06mlcfu 22o.Jc0,0 

6mOJJo o.J01ah'l:1C>nDO~lmi\ 22o.J<liCQJO(l)lcOOO® o.JC>Sl~. 

Answer all questions from 1 to 11. Each question carries 1 score. 
(l g3«ll«m 11 OJ6l@<Ill6~ nq,gp IX.!!.IJBJ6lJl3Cf0006o @COTOJ@6lg\96«ll6<0i. mfat0iJ<O 1 rui«llo) 

The sum of deviations of items from 
Arithmetic Mean will be always 

(a) One 
(b) Zero 
(c) Between Zero and One 
(d) Less than One 

From the following, which one is 
related to Primary Sector 
(a) Water supply 
(b) Construction of flats 
(c) Internet Cafe 
(d) Mining 

1. 

2. 

cru00mnm 12lC>U).~ cmml m8 ml <Tn 6~ ru l anl CQJ c, 

ffi6ID3§J@S ~6)c6, an6c0, n{j)~C>cdJa:;½:p~Jo 
____ ~CQJ1©1c66)6o. 

(a) @cm 
(b) n.JJ §;ll 0 

( c) n.JJ§;ll<mm1m6o @<Tn1m6o 2!2SCQJ1m8 

( d) 63<Tnlm8 c0,6oru 

@C)@~ @c6,C>S6<mm1©1c66)6<TnOJCQJ1m8 ln.JC>L.012llc0, 

a: 12)6)_.J eJCQ) 612)C) CQJ1 6TlJ m.D@<;½:j 3@ nfil an c, 6m? 
(a) §;leJOJ1@©6mo 

(b) nD§C>';? m1012)(l}C>6mo 

( C) 2!21c3@mg c6,@n..O 

(d) rummo 



3. Which of the following is not a 
partition value? 
(a) Median 
(b) Deciles 
(c) Mode 
(d) Quartiles 

4. As per 2016 World Human 
Development Report, India's rank 

5. 

6. 

7. 

8. 

9. 

is ...... . 
(a) 127 
(b) 136 
(c) 132 
(d) 131 
Pick out the discrete variable from the 
following 
(a) Height of a student 
(b) Income of a person 
(c) Weight of a child 
(d) Number of members in a family 

Identify the relative measure of 
dispersion from the following 
(a) Standard Deviation 
(b) Range 
(c) Coefficient of Variation 
(d) Mean Deviation 

. ....... came into existence in 2015 in 
India instead of Planning Commission. 
86th Amendment of Indian 
Constitution is associated with ..... 
(a) Right to Education 
(b) Rightto Information 
(c) Food Security 
(d) None of these 
Which of the following represents 
Arithmetic Mean 

X 
(a) N 

LX 
(c) 

n 

LfX 
(b)­

f 
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3. @C>@~ @c0,0s6cmm1©1c66)6cmruCQJ1m8 rules~m 

12lJ B..l l O CTm) ~ C><mm (l;(?J) (())? 

(a) 12lC>CDlcB,o 

(b) cw1@@crum8cru 

( C) 6T1Jn.D6e.ic0,o 

( d) c0,J00@@3m8cru 

4. 2016 @e.i a;e.ic,c0, 00mru rulc0,crum o1a;ipc3§ 

5. 

6. 

7. 

8. 

9. 

CTm) m 6 cru © 1 ~ 2!2 mn l CQJ 6 @s cru_o c, mo ........... . 

~6m. 

(a) 127 

(b) 136 
(c) 132 
(d) 131 
@C>@~ @c0,0s6cmm1©1c66)6cmruCQJ1m8 m1cm6o 

cru mn cm .!l...l © o @cm©@ 6m® s 6 c66) 6 c0,. 

(a) 63©6 ru1BlC>c3ano1CQJ6@s g2CQJ©o 

(b) 63©6 0Jlc6®1CQJ6@s OJ©600mo 

( C) 63©6 c0,631CQJ6@s CsC>©o 

( d) 63©6 c0,6s 606T1J<mml@e.i CTm)o(l)6ID3§6@s 

n©6™o 
@C>@~ @c0,0s6cmm1©1c66)6cmruCQJ1m8 m1cm6o 

ln.Jc6, "l c3 6™ mcmm1@1 ~(l;n.Jc&&flc0, CTm)§QJ 

@1©1.~"j01CQJJc6,. 

(a) ~c,cmcwc,mcw cw"lrula;CQJct11® 

(b) (l;061IDJ 

( C) G;OJ©1G;CQJct11@1 (l)J6mC>ffi>o 

( d) 0"lcm cw"lrula;CQJct11® 

~CTUJl@6mc6,12l2l 1ct11m n.Jc6,©12lC>CQJ1 20 15 m8 

. ............. 2!2®lCQJ1m8 m1e.iru1m8 rucm6. 
2!2ClIDl® Cs©6mne.JSffiCQJJ@S 86-C>o G;CsB(l)@l 

. ............... 12)C)CQJ1 6T1Jm.D@<;½:j3@C>6m. 

(a) ru1B l c,es l c,cru CTm)OJcB,C>CR>o 

(b) ru1ru©C>OJc6,C>CR>o 

( C) Csc&ru l cru 6 ©c&ru 

( d) 2!20J6)CQ)C)(TT)Jl2l~ 

@C)@~ @c6,C>SJ<mm1©1c66) 6cmruCQJ1m8 CTUl2lC>ClID© 

12lC>CDl@<mm CTUJ.!l...l1<;½:j1c66)6cma;cm<m? 

X LfX 
(a) (b) -

N f 

LX 
(c) 

n 
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10. From the following identify the 10. cm c,@ ~ @c6, c, s 6 cmm 1 © 1 c66) 6 cm ru CQJ1 m8 m 1 cm 6 o 

primary data source Ln.JC>LOl2l7c0, B<mm g2orulso cB,@6Tlscmm6c0,. 

(a) Reports from Economic Review (a) 2!2c66)G;6TDC>l2l1cfu o1ruliru7m8 m1cm6~ 

ola;~c,<3§ 

(b) Data collected from Internet (b) 2!21c3@mg1m8 m1cm6o a;cmru©l~ B<mm 

6ID3® 

(c) Terminal Exam scores collected (c) ru1BlC>c3ano1c0,§lm8 m1cm6o a;cmru©l~ 

from students n.JC>BQJC>0dl::flc0, n.J©lc:0:&lCQJJ@S crua;c0,c,(3 

(d) Unpublished Reports of Research (d) (l)G;OJn9::l6m cru_oc,n.Jm6ID3§6@s Ln.Jcrulcw"l 

Institutions. c0,©lc66)C><mm o1a;~c,c336c0,CJ3. 

11. Match the following 1 score each 11. G_,:t__)©~oo.JSl G_,:t__)@c96)~clb 63:JG©:>cmlm~o 

1 cruGclb:J@ ru1@o 

A B A B 
a. Karve Committee i) Poverty a c0,00@ru c0,12l2l7g1 i) BC>©llBlo 

b. Tapas Manjundar ii) Small Scale b. @n.JCQd 12l~JCBC>0c6,12l2llg1 ii) @.!l...lo6c0,7s 

Committee Industries Ol l QJ (TUC)CQJ6ID3® 

c. Tendulkar Committee iii) Education C. @@6Tls6C?J8c66)0 c6,12l2llg1 iii) OJ1BlC>CslC>CTUo 

Answer all Questions from 12-16. Each question carries 2 score. 
(12 96cmam 16 ru6l@(D)6~ n(l)~J '8.!1.IJBJ6ll13®<06l;Jo g!CU!lll@6l9W6cm;it0i. mf'8t0iJm 2 ru1cmo) 

12. Calculate Range and Coefficient of 
Range from the following data. 

12, 24, 37, 20, 45, 60, 16 
13. Classify the following into 

Conventional and Non conventional 
sources of energy 
Coal, Solar Power, Electricity, 
Petroleum 

14. Once the questionnaire is ready, it is 
advisable to conduct a 'try-out with a 
small group' 
(a) By what name this statistical term 

is known? 
(b) List out any 2 advantages of such 

a method. 
15. Complete the flow chart. 

Presentation of Data 

,, ,, ', 
(a) Textual 

Presentation (b) ................... (c) . .................. 
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12. @C)@~ @c6,C>SJ<mm1©1c66)6cm B<mm6ID3§J@S 

a;o 6@ ... q o a;o 6@ . .fl@1 (/)6 6m c,a,,ru6 o c0,6Tls6 n.Jl 

Slc66)6c0,. 

12, 24, 37, 20, 45, 60, 16 
13. @C)@~ @c6,C>SJ<mm1©1c66)JcmOJ@CQJ n.JC>©CTlJ©l, 

n.JC>©CTlJG;©l@© g2'D0~ G;LCTUC>@~6c0,CJ3 

nm cm16ID3@m <m©o<ml ©1c66) 6c0,. 

c0,C?J8c66)©1, CTU'DG;©C>0~o, 6)6)0JBlJ<m1, 

@n.JG;LSC>§lCQJo 

14. "a;.!l...lC>BlC>rueil cmcgic,oc,c66)7 c0,~76m®C>m8 ®3@ 

63©J 6).!l...l01CQJ l(l)J~1m8 n.J©"lc:0:&l1~6 Q;ffiC)c66)6 

cm <m m ei@C>6m " 6\) • 

(a) n{B@ G;n.J©1eJC>6m 2!2'D cru0orullc0, n.JBo 

®301CQJ@~s6cm@? 

(b) 2!2'D ©"l@1CQJ6@s n{B@@ffi>le.160 2 G;l2l02l 

c0,CJ3 n©~J@Jc6,. 

15. n.OG;§C) .!l...lC>0§ n.JJ0<mm1CQJC>c66)Jc6,. 

(larn>)(iffl ~~ 6) S am} (lJ (()) (() 6ID 0 

u u ,, 
a) 6lS.a'Q;\J° 

@Jn.Jmlei;i~ (b) .................... (c) . .................. 
«no OJ(0)@6TDo 



16. Classify the following into formal and 
informal sectors of employment 

Government Doctor, Agricultural 
Worker, Civil Police Officer, Street 
Vendor 

Paper Code No.: 25 

16 . cm c,@ ~ @c6, c, s 6 cmm 1 © 1 c66) 6 cm ru@ CQJ 63 'D nJ .!l...l c, 

© 1 c0,, CTm) m 'D nJ .!l...l c, © 1 c0, @ cm c, ~1 m8 a; 0 ru e.1c0, 

§ c,c66) 1 cm© o cm 1 © 1c66) 6 c0,. 

crualc66) C>al (l;(WC)cfu s al, c0,al n9:jc6,6)cmC>~1 eJC)§ 1 

cru1ru1m8 (l;n.JC)eJ"lcru 63C>n..O"lcrual, @cm©JOJJ 
c6,~QJ Sc66) C)(()® 

Questions from 17-22. Answer any five questions. Each question carries 3 score. 
(17 Q;j(O)!lffl 22 (1J6l@(D);j~~ '8.!1.l)BJ6ll13~7am n(j)6l(O)IB,le.J;Jo «ffil6l61IDJ~CU!llllmu g!CU!lll@6l9W;j(O);jt0i. ffif'8t0i)ffl 3 ru1cmo) 

17. Land settlement system by the British 
Government was one of the reasons for 
agricultural stagnation in India. 
Identify any other 3 reasons for 
agricultural stagnation. 

18. Observe the following inclusive 
classes. 

1-5, 6-10, 11-15, 16-20 
(a) Convert these classes into 

exclusive classes 
(b) Distinguish between inclusive and 

exclusive class. 

19. Classify the following programmes/ 
projects into those related with social 
infrastructure and economic 
infrastructure. 

• Proposed Thiruvananthapuram -
Kasaragod waterway 

• Measles - Rubella Vaccination 
Programme 

• Additional Skill Acquisition 
Programme (ASAP) 

• Laksham Veed u Project. 
• Proposed Kochi - Mangalore 

GAIL (Gas Authority of India 
Limited) Pipeline project 

• Pothu Vidyabhayasa Samrakshana 
Yajnam 

20. "Organic farming is helpful to attain 
sustainable development". Cite your 
arguments to support the above 
statement. 
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17. "L6Tlll3"lni:l (J)QJ6m@l2l11@1 CsJmlc0,6cml CTUlCTlJ 

BC>CQJo 2!2Cl?J).~ CQJJ@S c0,c,aln9::1lc0, 12lJ©S1<;½:j1@1 
c0, C>© 6m 6ID3 § 1 m8 63 cm C>CQJ1 © 6 cm 6." c0,c, al dl::l 1 c0, 

12lJ©S1<;½:j1m6~ 0g 3 c6,C)©6m6ID3® c6,6)6Tls 

<mmJcB,. 

18. cmC>@~ @c6,C>SJ<mm1©1c66)6cm 2!2®~JCTUIOJ 

~C)cru Jc6,® mi(() "lc&&flc66) l c6,. 

1-5, 6-10, 11-15, 16-20 
(a) 2!20J@CQJ n{f)cfu§Jcru"lru ~c,cru6c0,§c,c66)7 

00mc0,. 

(b) 2!2®~Jcru"lo1 ~c,cru6c0,CJ3, n{j)cfu§JCTU"lOJ 
~c,cru6c0,CJ3 n{j)cmlru n{j)@CTIDcm a;rualcml 

©1@~~6cm6c0,· 
19. cmC>@~@c6,C>SJ<mm1©1c66)6cm n.JCWcmlc0,CJ3/ 

G;Ln.JC>~cfuSJc6,® n{j)cmlOJ@CQJ CTUC>l2lJ n.0lc0, 

CTm)51 cru_o C)ffi cn)'!)c6,(() l 6ID3§J 12)C)CQJ1 6TlJ m.D@<;½:j 

3@, cru0CT1J cmmlc0, CTm)Sl cru_o c,m CTU'Dc6,© l 
6ID3® nm cml 6ID3@m cm©ocml ©1c66) 6 c0,_ 

• mlal~lni:is cm1©6rummnn.J6©o - c0,c,cruo 
(l;(J)C)(U) ~e.ln.JC>cm. 

• 12l"lcru1m8cru-oJ@6Tll~p QJC)cfucrula;mn9::1cm 

n.JCWcml 

e @rc)(Wln9::l6mm8 cruc0,l<?J8 CTm)c6,lJCTU1n9::l® 

G;Ln.JC>l(J)C>o ( CTm)CTUC>nJ) 

• eJc:0:&loOJ"ls n.Jcwcml 

• m1al~1n91s @c6,C>~1 - 12lo(J)eJC>n.J6©o 

GAIL ( (J)lc,cru CTm)a;cmc,0731 63C>n..0 2!2®l 

e.1l01gcu5) @@n.J~@@eicm a;ln.JC>~cfus. 

• @n.JC>cm6 ru1B l C> Csl c,cru cruo© c:0:&l 6m 
CQJ~o. 

20. 'cru6cru_o7©ru7c0,crumo a;msc,cm @@~ruc0,~n9::17 

cru n.OC) CQ) c6, l2l C)6m' (l;l2) m8 ln.J cru cmc, QJ ffi6) CQ) 

cruc, w J c0, ©1 c66) 6 cm ru C>B 6ID3® CTm)OJ cm ©1 <;½:jl 

c66)Jc6,. 



21. Mention any 6 points to be kept in 
mind while preparing a good 
questionnaire. 

22. Explain the role of Statistics in 
Economics. 

Paper Code No.: 25 

21. 63©6 m~ G;.!l...lCX3SX1.1e.11 <mCQJCXXxOO~CTl.lCXJ3 LCRXW1 

Q;c66)6Tls n{B@@ffi>1eJ6o 6 c6,C>©l6ID3® CTUJ.!l...l1~1 

c66)6'°6>· 

22. cn)C)CTlJ cmmlc0, CR>C>cru l@<mml m8 cru_o7 @1 rul rul 

©CR>C>cri5L@<mm1@1 n.Jffb ru1CR>Bl2lC>c66)6c0,. 

Questions from 23-27. Answer any four questions. Each question carries 4 score. 
(23 Q;j(O)!lffl 2 7 (1J6l@(D);j~~ '8.!1.l)BJ6ll13~7am n(j)6l(O)IB,le.J;Jo ffi)6le.J~CU!llllmv g!CU!lll@6l9W;J (O);jt0i. ffif'8t0i)ffl 4 ru1cmo) 

23. Write down the steps to construct a 
Lorenz Curve. 

24. Government of India decides to start 
new industries with a goal of increase 
in GDP of the country 
(a) Identify the goal of India's Five 

Year Plan 
mentioned in the above statement. 

(b) Explain the other goals of India's 
Five Year 
Plans. 

25. The size of land holdings of 40 families 
in a village is given below. Find the 
Mean Deviation about Mean. 

Size of land Numberof 

holdings (in acres) families 

0-20 5 

20-40 8 

40-60 16 

60-80 8 

80-100 3 

26. Identify the sources of Human Capital 
Formation from each of the following. 

(a) Workers sent for off-campus 
programme for improving their 
skill and efficiency. 

(b) People acquire adequate 
knowledge related to availability 
and prospects of jobs. 

(c) Social awareness programme on 
dengue fever given to people in 
the rural area. 

(d) New schools open in Government 
Sector. 
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23. G;eJC>O®cru Q.llc6,o m1ctll2l2l1c66)6cm@1m6~ 
neJ 36?ffi® n© ~6 <mJ c6,. 

24. ©C>~lcmm1@1 ~1.cwln.Jl ructlcw1~1c66)C>® 

Q;QJ6Tls1 2!2ClIDlC) (f)QJ6m6)12)1v n.JJ@1CQJ QJlQJ 

CTUC>CQJ6?ffi® <mJS6ID3JQJC>® @"l©Jl2lC>ffi1c66)6cm6. 
(a) 2!2'D Ln.Jcru@C>Q.lffi@CQJ CTUJ.!l...l1~1c66)6cm 

2!2ClIDl® n.J6lID.JQ.lam)© n.JCW@1CQJ6@s 

e.lc:0:&llO @1©1.~'°j01CQJJc6,. 

(b) 2!2ClIDl® n.J6lID.JQ.lam)© n.JCW@lc0,§6@s 

0g e.lc:0:&l l 6ID3® rul CR>B ic0,©lc66) 6 c6,. 

25. 63©6 l(l)C>l2l<mm1@eJ 40 c0,6s 6O6Tl.16?ffi§J@S 

@ @c0,ru ®es l 12l1 CQJ J @s <IDc)§QJ J c0,CJ3 cm C>@ ~@c0, c, 

s 6 cmm1m1c66)6 cm 6. cru00mnm00wl cmm1m8 

m1cm6~ 0"lcm cw"lrula;CQJdl::l® c0,c,6Tl)6c0,. 

6) 6) ,B,(lJ Uofs J i;il (ll)J 6) s ,B,JSJo6TlJ 6Ull~J6lS 

cmo~ru;i.aail (n{Jlc00ol«m) n{J)§ll,Jo 

0-20 5 

20-40 8 

40-60 16 

60-80 8 

80-100 3 

26. @C)@~ @c6,C>SJ<mm1©1c66)6cm 63C>G;©C>cm1m8 

m1cm6o 0m6dl::lll2lJeJCDm ©Jn.J"lc0,06m<mm1@1 

g2oru1s6ID3u3 cm1m1~o1CQJ6c0,. 

(a) @@mn.J6 6m l ru6 o c0,c,ml c:0:&l 12l@CQJ 6 o 

ructlcw1~1c66)6cmcm7mc,CQJ1 @@C>~le.10§1 

c6,@§ 63C>n..O c6,C)CTl.l cru n.JCW@1c66) C>CQJ1 

CTm)CQJc66) J cm J. 

(b) ~m6?ffiu3 a;~c,e.17 eJCsl@G;CQJCQJJo cruC>CDl 

@c6,G;§CQJ6o c0,607~6~ n.J©lC>nJ@l2lC>CQJ 

CTm)010J a;ms6cm6. 
( C) l(l)C>l2l"l6m G;l2l6lJeJCQJ1@eJ ~ffi6?ffi®c661 

@CWffi>l n.Jm1@CQJc6,J01.!l.J CTUC>l2lJnDlG;6Tl.lC) 

wru@c0,06m o ms~ c,c66) 6 cm 6. 
( d) CTU0c66)C)0 G;l2l6lJeJCQJ1C?J8 n.J6@1CQJ cruc0,J§J 

c0,CJ3 ~©o@1c66)6cm6. 
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27. Construct a frequency distribution 27. cmcml ©1c66) 6 cm B cmm 6ID3 §1 m8 ml cm 6 o 63© 6 
table from the following data. Take ~ru~ cmml ru1@©6m nJ 37c0, ml al 12l2l1c66) 6 c0,_ 

class intervals as 8. ~c,cru 2!2SG;QJ§ 8 ~CQJ1 n{j)5Jc66)Jc6,. 

4 18 24 8 60 34 32 12 20 5 
15 28 44 50 55 22 25 37 40 3 
55 50 49 9 17 33 42 59 21 41 

Questions 28 - 30. Answer any two of the following. Each question carries 5 score. 
(28 Q;j(O)!lffl 30 (1J6l@(D);j~~ '8.!1.l)BJ6ll13~7am nQ36l(O)IBileJ;Jo @6l6mm]CU!llllmu g!CU!lll@6l9W;j(O);jt0i. ffif'8t0i)ffl 5 ru1cmo) 

28. Draw Ogives for the following 
frequency distribution and locate 
Median 

Class Frequency 

0-5 3 
5-10 5 
10-15 8 
15-20 12 
20-25 14 
25-30 6 
30-35 2 

29. "Green Revolution has not achieved its 
targeted goals fully". Examine the 
statement with reference to the 
limitations of Green Revolution. 

30. Explain how the agriculture allied 
activities (any two segments) would be 
beneficial for the rural development. 

28. @C>@~ @c0,0s6cmm1©~6cm ~ru~cmml rulcm© 

6Tl)n.J3lc0, g2n.JG;CQJCXJ5lil 63~"h.J~ QJ(OCQ)c66)Jc6,. 

12l"lcwrncm (l;(()6)J6);½J3J<mm6'°6>. 

~'.)~ ~ QJ~ (ID()) 1 

0-5 3 
5-10 5 
10-15 8 
15-20 12 
20-25 14 
25-30 6 
30-35 2 

29. 'n.o©l@rul~ruo <IDc)@1@1 g2a;~®e.Jc:0:&ll6ID3® 

06~6rumc,CQJ60 a;ms1CQJ1r~j' 2!2'D Ln.Jcrucmc,ru 

m@CQJ n.o©1cmru1~rucmm1@1 n.J©101cm1c0,§6 
12lC>CQJ1 6TlJm.D@<;½:jSJ<mm1 n.J©1G;CR>C>CD1c66)6c0,. 

3 0. c6,C)0 dl::flc6, <IDc)mJ 6T1Jm.D (l;l2)6)J e.1c0,CJ3 ( n{B@@ 

ffi>leJJo 2 n©6™o) l(l)C)l2l16Tl) rulc0,crumcmmlm 

n{j)6ID3@m Ln.JG;CQJC>~m@<;½:jSJ<mmJ@l2lcm OJ1CR> 
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Questions 31-33. Answer any two of the following. Each question carries 8 score. 
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31. "Globalisation is the outcome of the 
policies of liberalization and 
privatization". Assess the impact of 
these policies on Indian Economy. 

6 

31. "~G;(l)C>§lc6,©6mo n{j)cm@ g2BC>©lc6,©6m 

cmm 1 @ 1 CQJ 6 o cru J c0, c, © l ru m8 c66) © 6m cmm 1 

@1CQJJo n.J©16m1@ n..OeJl2lC>6m". 2!2®l® 

CTUCTlJB0JlQJCTU_OCQJlm8 2!2'D mCQJ6ID3§J@S n..OeJ 

6ID3® ru1eiCQJ1©6cmm6c0,. 



32. Calculate Mean, Median and Mode 
from the given data. 

Class Frequency 

10-20 3 

20-30 4 

30-40 10 

40-50 20 

50-60 12 

60-70 11 

33. Discuss the three dimensional 
approach of Government of India 
towards Poverty Alleviation. Also 
make a critical assessment of the 
programmes of poverty alleviation. 

7 
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10-20 3 

20-30 4 

30-40 10 
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60-70 11 

33. BC>©llBl mlctl00ctl~mru600CQJ1 6T1Jm.D@<;½:j31 

§6~ 2!2®lC> (l)OJ@6Tl2l11@1 L@106ru cru0"l 

n.Jmo .!l...lctl~@.!l...lcgi6c0,. 2!2®lC> (l)OJ@6Tl2l<f ms 

<;½:j1eJC>c66)1CQJ1 36~ BC>©llBl mlctl00ctl~m n.J©l 

n.JC>slc0,@§ ru10ctlcmmc,amic0,0c,CQJ1 ru1eiCQJ1©6 
<mmJcB,. 



Qn. 
No. 

1 

2 

3 

4 

5 
6 

7 

8 

9 

10 

11 

12 

13 

14 

Second Terminal Examination 

b. Zero 

d. Mining 

c.Mode 

d. 131 

Economics 
Answer Key 
(First Year) 

Scoring Key 

d. Number of members in a family 

c. Co-efficient of variation 

NITI Aayog 

a. Right to Education 

LX 
c.-

n 

c. Terminal exam scores collected from students. 

a. Karve Committee - ii. Small scale industries 

b. Tapas Manjundar Committee - iii. Education 

C. Tendulkar Committee - i. Poverty 

For calculating Range 
Formula or process only - ½ 

Range= L-S = 60-12 = 48 
For calculating coefficient of Range 

Formula or process only½ 

L-S 60-12 
Coefficient of Range= -- = -- = 0.67 

L+ S 60+12 

Identifying conventional sources of energy ½ x 3 
Coal, electricity, petroleum 

Identifying Non Conventional Source of Energy ½xl -
Solar power 

a. Pilot survey/ pre testing of questionnaire. 

b. For mentioning any 2 advantages ½ x 2 
- Helps in providing a preliminary idea about the survey 
- To know the short comings and draw backs of the 
questionnaire. 
- Assessing the suitability of the questions. 
or any other relevant points. 

1 

Set-A 

Marks Total 
Score 

1 1 

1 1 

1 1 

1 1 

1 1 

1 1 

1 1 

1 1 

1 
1 

1 1 

1 
1 3 
1 

1 

2 

1 

1½ 

½ 
2 

1 

2 
1 



15 b. Tabular presentation 1 
2 

c. Diagrammatic / Graphical presentation 1 

16 For identifying formal sector 1 
Govt. doctor, civil police officer 

2 
For identifying informal sector 1 

Agricultural worker, street vendor 

17 For mentioning any 3 points (lx3) 
-Low level of technology 
-Lack of irrigation facilities 3 3 
-Negligible use of fertilizers 
-Revenue settlement system 

18 a. For converting into exclusive class 1 
0.5 - 5.5, 5.5 - 10.5, 10.5 - 15.5, 16.5 - 20.5 

b. Explaining inclusive class 1 
Lower class limit and upper class limit are included in 
the class interval. Continuity of data is not maintained. 3 

or any other relevant point. 1 
Explaining Exclusive class. 
Lower class limit is included but the upper class limit is 

excluded. Continuity of data is maintained. 

19 Finding out social infrastructure ½ x 4 2 
-MR vaccination programme 
-Pothuvidhyabhyasa Samrakshana Y ajnam 
-ASAP 

3 
-Laksham veedu project 

Finding out economic infrastructure ½ x 2 1 
-Proposed Trivandrum - Kasaragode waterway 
-Proposed Kochi - Mangalore GAIL Pipeline Project 

20 For any 3 points relating organic farming to sustainable 
development (lx3) 

- Substitute chemical fertilizers with organic manure 
- Provide healthy food 
- Produce is chemical pesticide free 3 
- Soil conservation in the long run. 3 

Consider any other relevant points. 
- For mentioning benefits of organic farming only - 2 

score 

21 Mentioning any 6 relevant points, such as, 
- The questionnaire should not be too long. 
- The series of questions should move from general to 

specific. 

2 



- The questions should be precise and clear. 
- The questions should not be ambiguous, to enable 

the respondents to answer quickly, correctly & 

clearly. 
- The questions should not use double negatives. 
- The question should not be a leading question, 

which gives a clue about how the respondent should 

answer. 
- The question should not indicate alternatives to the 3 3 

answer. (½ x 6) 

22 - Statistics helps to analyse economic problems. 
- Helps to formulate economic policies etc .. any three 1+1+1 3 

relevant points. 

23 - Listing out the steps to construct Lorenz Curve 4 4 

24 a. Economic growth 1 

b. Explaining 3 other objectives 1 x 3 3 
- Modernisation 

4 
- Equity 

- Self-reliance 

For only mentioning the 3 objectives (½x3) 

25 Calculating Arithmetic mean 
Equation - (½) process - (1) correct answer(½) 2 

X = I fm = 1940 = 48 
N 40 

4 
Calculating mean deviation 
Equation - (½) process - (1) correct answer(½) 2 

M.D = IflDI = 668 = 16_7 
N 40 

26 a. On the job training 1 

b. Information 1 
4 

c. Health 1 

d. Education 1 

27 For the correct classes 1 

Correct Tally mark 2 
4 

For marking frequency & total 1 

28 Preparing schedules 1+1 
Drawing less than ogive & more than Ogive 1+1 5 
Locate Median 1 

29 Any relevant 3 points each related to achievements/ failures 5 
5 

of Green Revolution (2½ x 2) 

30 Explanation of any 2 agriculture allied activities (2½x2) 5 
5 

- Animal Husbandry 

3 



- Fisheries 
- Horticulture 

31 Introduction 
Points related to background of NEP or any other relevant 1 
points. 

Explaining positive and negative impacts of NEP 5 
(Any relevant 5 points) 
Assessment 2 

8 
May include 

- Comparing the positive and negative impacts. 
- Reaching a conclusion or any other relevant 

evaluation point. 
- If assessment part is not attempted, maximum 6 

score. 

32 Correct formula - ½ x 3 1½ 
Correct process 
A.M-1 
Median-2 8 

Mode-2 5 
-

Correct answer - X = 46.17, Me - 46.5, Mo - 45.56 (½x3) 1½ 

33 - Growth oriented approach 1 
- Employment generation programmes 3 
- Provision of basic amenities to the poor 2 8 
- critical assessment 2 

4 




